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Tema 1. Tinaroa “to be”

Tabauma 1
Bpemennbie ¢popmsl riarosaa “to be”
Present Past Future
Simple/Indefinite | Simple/Indefinite | Simple/Indefinite
I am Was will be
He, she, it IS Was will be
You, we, they are Were will be
Present Past Future
Continuous Continuous Continuous
I am being was being -
He, she, it is being was being -
You, we, they are being were being -
Present Past Future
Perfect Perfect Perfect
I, you, we, they have been had been will have been
He, she, it has been had been will have been
Tect Nel

3aganue 1. Ykaxkute OyKBOW NMpaBWIbHBI BapMaHT BpeMeHH rjaroja “be”

I'aaroa “to be”

H PAJAOM HAIIMIIHUTE €r0 IMEPEBO/I.

a. Present Simple
b. Past Simple

c. Future Simple

d. Present perfect
e. Past Perfect

f. Future Perfect

3ananue 2. Boioepute npaBuiabHy10 popmy riaaronaa “be”.

a. am
b. Is
C. are

1. .... Narvskaya underground station far from your university?

1. are

2. will be
3. has been
4. was

5. will have been

6. have been

d. was
e. were
f. will be

2. When .... you ... at home? | want to phone you in the evening.
3. He .... at home yesterday.




4. ..... you tired?

5. The climate in Saint Petersburg .... very damp (cbipoii).
6. What colour .... your mother’s eyes?

7. Where .... you born?

8. German ..... more difficult to learn than English.

3ananue 3. Boioepure Hy:kHYI0 hopmy riaaroiaa “be”.

a.am  d.was g. am not J. wasn’t
b. is €. were h. 1sn’t k. weren’t
C. are f. will be 1. aren’t . won’t be

1. She .... very happy when she saw her ex-husband. She didn’t want to talk to him.

2. Phone me tomorrow evening. | .... at home.

3. Why .... you so angry yesterday?

4.1 .... hungry after the lectures, so | went to the canteen (cromoBas).

5.1... afraid of the coming examinations, | know this subject well.

6. This pulp and paper mill ..... in Svetogorsk, it .... in Kotlas.

7. 1t .... one of the happiest days in her life when she saw London.

8. Why .... you always late? Try to come on time.

9. She didn’t like that hotel. It .... far from the centre.

10. I heard the weather forecast (mporuo3s morozsr) for the next two months. It ...
warmer than usual in April, but it .... warm in May.

11. He .... at the seminar. He didn’t feel well.

12. When .... the University of Oxford founded?

3ananue 4. YKaKuTe NPEVIOKeHHsl, B KOTOPbIX Iaroyi “be” mmeeT MogajabHoOe
3HaYeHMe.

. He is arriving next week.

. The work was to be resumed (resume — Bo3o6HOBIIATE) @ Month later.
. The train from Budapest is to arrive in 5 minutes.

. The measurements (u3mepenns) were written down.

. When are you to come back from your business trip?

. The error (ommub6ka) was not found.

. Are they still working?

. We are to answer all the letters today.
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Tema 2. I'maroa “to be” B pa3HbIX PYHKIHAX B MPeNI0KEeHUH

Tabnuma 2
®yuknun raaroaa “to be” B mpennoxennn
DyHKIUSA B IIpumep IlepeBon
MpeI10KEeHHH
1. CwsbicioBoit rimarous | He is at work now. On cenyac (HaxXOIHUTCS)
«OBITHY, «IBIISITBCSY, Ha paborTe.
«HAXOIHUTHCS»
2. Bcemomorarenshbiii | They are building a | B nacrosiiee BpeMst oHH
riaroji juis oopasosanus | conference hall at the | ctposit kondepeni-3an.
CIIOKHBIX  TJIAarOJBHBIX | MOMent.
BpEMEH (rpynma | Many beautiful objects | B Slnonun msrorarmearor
Continuous, Passive | of paper are made in|MHOXECTBO  KpaCHBBIX

Voice). CaMOCTOATEIEHO peIMETOB U3 OyMmardu.

HC IICPCBOAUTCA

Japan.

3. Mogansusiii raaroa (B | He is to become an artist. | On TOJDKEH  CTaTh
COYETAHHH C XYIOKHUKOM.
HHQUHATHBOM  JIPYrOro
rjarosja ¢ Jyactuiei “to”)
— «IOJDKCHY, «HYXKHO»
4. B xoucrpykiuu “there | There are many French | B osroit  Oubnnoreke
IS (are)” - «cymiectByer», | books in this library (ecTh) MHOTO (hpaHITy3CKHX
KUMEETCS», «ECThY KHHUT.
There are so many books | CyiecTByeT  CTOJIBKO
that must be read. KHUT, KOTOpBIE HYXHO
POYECTh.

Tecr Ne 2
I'aarou “to be” B pa3sHbIX PYHKIUAX B MPEAT0KeHUH

3aganne 1. Ykakute NpaBWIbHBLIN BapUaHT HKIMHU Tjaroja “be” B
) | p p YHKI
NpeaJioKeHUun:

CMBICJIOBOM IJIaroJi

rJ1aroj-CBsi3Ka B COCTABHOM UMEHHOM CKa3yeMOM
B MOJaJIbHOM 3HAaUY€HHUU
BCIIOMOTaTEIbHBIN rjIaroii,
CTpaJaTeIbHOTrO 3aJI0Ta

€. BCIOMOTaTelbHBIA TJIaroi,
rpymmbsl Continuous.

oo

ynotpeoisercs TSt o0pa3oBaHus

ynotpebnsercs s 00pa3oBaHHS BpPEMEH
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. You are to repeat the experiment.

. The students are repeating the experiment.

. Our aim is to repeat the experiment.

. The experiment was repeated.

. The results of the experiment have been repeated.

. We were in the laboratory carrying out the experiment.
. The train is to arrive in 10 minutes.

. The train was approaching the station.

. Your train is on platform five.

10. Why is he learning the Vietnamese language?

3ananue 2. BpiOepuTe NpPaBWIBHBIA BAapPHAHT MEpPeBOAAa AHIVIMMCKHUX
MPeUIOKEHHI ¢ I1arojioM “be” B pa3sHbIX pyHKIHIX.

1. We were to meet at the entrance to the theatre.

a.

b

C.

d

MBI BCTpETUIINCH Y BX0/J1a B TEATp.

. MBI BcTpeuaemcs y BX0Jia B Teatp.

MBI 10JKHBI OB BCTPETUTHCS Y BXOJ1a B TEATP.
. MBI 1OJKHBI BCTPETUTHCS Y BXOJA B TeaTp.

2. A new ring-road is being built round the city.

a.
b.
C.
d.

Hogas komblieBas 1opora nocTpoeHa BOKpYT ropoa.

HoBy1o Komb11eBYI0 TOpOTY HEOOXOIUMO MTOCTPOUTH BOKPYT TOPO/Ia.
Hogas komblieBas 1opora CTpOUTCsl BOKPYT Tropojia

Hogas komblieBas nopora OyZeT MOCTpOEHa BOKPYT ropoa.

3. Spectroscopy is widely applied in physical investigations.

a.

CHeKTpOCKOINMI0 HY)KHO IIHPOKO HCIOJNBb30BaTh B  (PU3MUYECKUX
UCCIIEOBAHUSX.

CHeKTpOoCKOIuUs MIUPOKO UCTIONIB3YETCs B (PU3NUECKUX HCCIICTOBAHUSX.
CHeKTpOCKOIHUIO MHUPOKO UCTIOIH30BANN B (PHU3NYECKUX HCCIICTOBAHUSX.
MBIl  UPOKO  HCMOIB3YEM  CIEKTPOCKOMUIO B (DU3MYECKUX
UCCIIEJOBAHUSX.

4. The purpose of the book was to describe the recent investigations in physics.

a.

b.

Ilenp 3TOM KHUTM — OMMCATh IOCJIETHHE HCCIEIOBAaHUA B 00JIacTH
bu3uKu.

[locnennue uccnenoBanus B 00nacTd (pU3MKK OBLIM OMHCAHBI B ATOM
KHUTE.

Lenp 5TOM KHHUIM 3aKioyanach B TOM, 4YTOOBI ONUCATh TMOCJIEIHUE
MCCIICJIOBAHUA. ..

Lenbp 5TOM KHUTHM 3aKIIOYAaETCs B TOM, UYTOOBI OMHUCATh IOCIETHUE
UCCIIeIOBAHMUSL. ...



5. We are to discuss some important questions at the meeting.

a.

BaxxHble BOnpochl 00CYKJAI0TCSL HA COBEIAHUM.

b. MbI 10MmKHBI 00CYIUTH BayKHBIEC BOTIPOCHI HA COBEIIAHUU.
C.
d. MsI 00CyX1aeM BayKHBIC BOIIPOCHI HA COBEIIAHUH.

MpbI MOKEM O6CYI[I/ITB Ba’XHbIC BOIIPOCHI HaA COBCIIAHWH.

6. Our aim is to oxidize this compound.
a. Hameii 3amaueit OBIIIO OKHCIICHHE 3TOT'0 BEIIECTBA.
b. Hama 3agaya cocTOUT B TOM, YTOOBI OKHCIIUTE 3TO BEIIECTBO.
C. MbI JOJDKHBI OKHUCIUTE 3TO BEIISCTBO, TO HAIlIa IICTb.

7. We are developing a new technique.
a. Mmn1 pa3pa6aTLIBaeM HOBYIO MCTOOUKY.
b. Mgl pazpabaTbIiBaJii HOBYIO METOJIUKY.
c. Hosas metonuka pazpaboTraHa HaMu.



Tema 3. I'nnaroJ “have”

Tabnuua 3
®yuknun raaroiaa “to have” B npenioxennu
DyHKIUSA B IIpumep IlepeBon
MpeI0KEeHHH
1. CwsbicioBoit rTiaron | This museum has a good | Dtor  My3eit  umeer
«AMETh collection of Claude | xopomyio  KOJUICKIIHIO
Monet’s works. pabot Kinona Mose.

2. Bcemomorarenshsbiii | We have just closed a \Y/§S TOJBKO 4YTO
riaroJ Juisi oopazoBanus | vVery good deal. 3aKITFOYHIIH yJIQ4YHYFO
CIIOXHBIX  TJIArOJIbHBIX CIICNIKY.
BpeMeH (Tpymnmna Perfect).
CamocToATeNbHO HE
IEPEBOTUTCS
3. MopaabHbI| TJ1aros | often have to travel on | S moipkeH yacto e3aUTH
(B COUYETaHUH c | business. B KOMaH/IHPOBKH.

UHOUHUTUBOM  JIPYTOro
rjiaroJjia ¢ yactuueu “to”)
— «JIOJDKEH», «00sI3aH»

Tect Ne 3
I'aaroa “have”

3apnanme 1. Ykaxkure, kakoi riaroji (B coorBercTBywoueii ¢gopme) Bol Obl
HCI0JIb30BAJIU B IAHHBIX NPeIJI0KeHUsIX.

a. be
b. have

O 0 1N DN K WN)—

. 'Y Bac ObUIH IIp00JIEMBI € TIEPEBOAOM?

. DTOT 3K3aMeH ObLT MMOCJIETHUM B TIEPBOM CECCHUHU.
. Korna y nac 6yner cemunap mo uctopuu?

. Bol ObITH HA Bedepe BCTPEUH B MPOILIOM TOTy?

. DTO COBpeMEHHBIE TPUOOPHI.

. CkoybKO y Bac OBUIO 3a4€TOB?

. Korna Bol Oyaere B MockBe B cieayroniuii pa3?
. Y MeHS HET CBOOOAHOTO BPEMEHH.

. Y MeHs OyzieT Xopoias CrienaibHOCTb.



3anganme 2. Onpenenure BpeMs riaaroJia “have”.

a. Present Simple d. Present Perfect
. Past Simple e. Past Perfect
Future Simple f. Future Perfect

oo

. has had

. had

. have

. had had

. will have had
. will have

. has

. have had

coO~NO OIS, WN -

3ananue 3. Boioepure Hy:kHYI0 opmy riarosa “have”.

a. have f. does not have
b. has g. do .... have?
c. had h. does ... have?
d. will have i. did not have
e. do not have j. did .... have?

. Y MeHS HET DTUX JEKIIHUH.

. 'Y Bac 6butH TPYTHOCTH € PUOOPETEHUEM HOBOT'O 000Dy I0BaHMS ?

. Y HHUX TPH 4aca aHTJIMKACKOTO A3bIKa B HEJIEIO.

. Y Hero unrepecHas pabdora.

. Korna y Bac nens poxaeHus?

. Y Hero 371ech HET POJICTBEHHUKOB.

. Korna y Hero o6eaeHHbIi iepephiB?

. Y Hero ObUIM HEKOTOPBIE COMHEHHUS OTHOCUTEIILHO MOTYYEHHBIX PEe3yIhTaTOB
U3MEpPEHUM.

01N LN KW

3aganme 4. YkaxkutTe (QyHKouo riaaroga “have” B mnpeanokeHum wu
nepeBeauTe BCe CKazyemoe:

d. CMBICJIOBOM IJIaroJ
b. BcromorartebHBIN IJ1aros, CIyKHT Jj1s oOpa3oBaHus BpeMeH rpymimbl Perfect.
C. MOJAJIbHBIN IJIaroJ

1. Why have you chosen (choose — Bei6upats) this method?
2. You did not have to change your plans.

3. He has a lot of experience (omsrT) in this kind of work.

4. | will have to go on business (komanaupoBka) next month.

9



5. Do you have any friends in Saint Petersburg?

6. She had to explain (o0bsscauTh) the material once more.

7. Have you ever heard this wonderful musician?

8. If students in British universities wish to teach in a university they have to work
for a Doctor of Philosophy degree. For this they will have to carry out some
important research work.

10



Tema 4. Ooopot “There be”

Tabnuua 4.1

Oo6oport “there be”

YTBepaurTeabHas popma

OTpuuarenbHas
dopma

Bonpocureabnas ¢popma

There is a good
description in this

There is no description
in the book.

Is there a description in the
book. — Yes, there is./ some

é = | book. No, there isn’t.
§ (% There are people in | There are no people in Are there people in the
the street. the street. street? — Yes, there are./

No, there aren’t.

There was a concert
yesterday.

There was no concert
yesterday.

Was there a concert
yesterday. — Yes, there
was./ No, there wasn’t.

There were some
mistakes in his test.

Past
Simple

There were no mistakes
in his test.

Were there any mistakes in
his test? — Yes, there were./
No, there weren’t.

There will be a

o2
= 2 conference
T 5 | tomorrow.

There will be no
conference tomorrow.

Will there be a conference
tomorrow? — Yes, there
will./ No, there won’t.

There has been a fall
in prices.

There has been no fall in
prices.

Has there been a fall in
process? — Yes, there has. /
No, there hasn’t.

There have been
several campaigns
against the use of
GM food.

Present
Perfect

There have been no
campaigns against the
use of GM food.

Have there been any
campaigns against the use
of GM food? — Yes, there
have./ No, there haven’t.

There had been some
misunderstanding.

Past
Perfect

There had been no
misunderstanding.

Had there been any
misunderstanding? — Yes,
there had./ No, there
hadn’t.

11



Tabmuua 4.2
IlepeBox o6oporta “There be”

Crpykrypa IIpumep IlepeBon
NpeaI0KeHHsI
B npemmoxxenun  ecth | There are several types of | Ha 3aBOJIC (ecTh)
00CTOSATEIILCTBO Mmecta/ | equipment at the mill. HECKOJIBKO THIIOB
BPEMECHH. 000pyI0BaHMUS.
There are no large | B stux  MeTomax  HET
differences in these | cyleCTBEeHHBIX pa3InYHi.
methods.
B sTOoM ropoze ectb
Is there a mill_in this town? | komOuHat?
B mpemioxenun — Het | There are several | CymectByetr/EcTh/
00CTOSATENbCTBA. explanations  for  this | Umeercs HECKOJILKO
phenomenon. 00BsSICHEHU I ITOMY
SIBJICHHIO.
There are no reasons for | Her npuumH 11 CIIOPOB.
arguing.
Were there any volunteers? | Boliau ju skenatomiue?

Tect Ne 4
Oooport “There be”

3ananme 1. Ykakute HOMepa npeaJIOKeHH, PU NepeBoAe KOTOPbIX Bbl ObI
HCIOJIb30BaIH 000poT “There be”.

0 3 ON n

. Ha ctenax BoenHoii ranepeu 1812 rona 3umuero asopua — 332 nopTpeta

reHepanoB-y4yacTHUKOB OTeuecTBeHHOM BOMHBI 1812 r. 1 3arpaHMYHOrO MOX0/1a
1813-1814 ronos.

. Cpenu vux — noptpetsl M.U. KyTy30Ba u ero 60€BbIX COPATHUKOB —

II.1.barpatuona, A.Il. Epmonosa, H.U. Paesckoro, /. JlaBernoBa u ipyrux.

. [lopTpeTsl HanMCcaHbl U3BECTHBIM AHIVIMHMCKUM xuBonucueM Jxopmxem oy u

pycckumu xynoxaukamu A.B. TTonsikoBeiM u B.JI. ['onnke, moMoraBimuMu emy.

. 3naete i Bpl, uro B Cankt-IleTepOypre ecTh ABa ErUNETCKUX CHUHKCA,

npuBe3eHHbIX U3 PuB, cronuubl pesnero Erunra?

. Ilepen kakum 37aHUEM OHU HAXOASATCA?

. B Hmwxuem mapke [leteproda 176 pontanos u 3 kackana.

. [IpoTsiskenHocTh HeBbl 74 KM., U3 HUX 32 KM. HaxXoJATCS B Ipejiesiax ropoja.
. I'me naxoautes cambiil mupokuii moct Cankr-IlerepOypra u kak oH

Ha3bIBaETCA?

. B Opmuraxe — okosio 15000 kaptun, 12000 ckynsntyp, 224000 naMsATHUKOB

MPUKJIAAHOTO UCKYCCTBA U T. 1.

12



3ananmue 2. Boioepute Hy:kHy0 popmy riaaromaa “be”:

a. is d. were
b. are e. will be
C. was

. Every winter there ... much snow in this region.

. There ... many people on the bus when | was going to the city centre.

. There ... a lot of traditions in the world connected with Christmas.

. Some centuries ago there ... often fighting in the streets of Oxford between the
students and townspeople.

. There ... a new exhibition in the Hermitage next summer.

. Before 1941 there ... 191 fountains and 4 cascades in the Lower Park in
Peterhof.

. ... there much literature on this subject (tema) in the University library?

8. There ... about 300 bridges in St. Petersburg and 42 islands, but many years ago

there ... about 100 islands. How can you explain it?

A W N

o O1

\l

3aganue 3. BoiOepuTe npaBuJbLHbIN MepeBoI.

1. There are eight museums on the Spit of Vasilievsky Island.
a. Bocemb MY3CCB HAXOOATCA HaA CTpGJIKe BacunbeBckoro OCTpOBa.
b. Ha Ctpenke BacunbeBckoro octpoBa ObLIO BOCEMb MY3€€B.
c. Ha Crpenke BacuiabeBCKOro ocTpoBa BOCEMb MY3€€B.

2. The monument to A.V. Suvorov is on Suvorov Square, next to the Field of Mars.
a. Psgom ¢ MapcoBeiM mnojsiem, Ha 1iom@aau CyBopoBa, HaXOAUTCs
naMaTHUK A.B. CyBopoBy.

b. TMamsatauk A.B. CyBopoBy — Ha mwiomiaau CyBopoBa, psiioM ¢ MapcoBbiM
TIOJIEM.

c. ITamsarauk A.B. CyBopoBy Obpu1 Ha miom@aaun CyBopoBa, psSAOM C
MapcoBbiM 1TOIEM.

3. At the beginning of the 18" century on the place of the General Staff (on Palace
Square) there was a market.

a. B Hauane 18B. ppIHOK HaxomuJcsa Ha Mecte 3aaHus [ maBHOro mraba (Ha

JIBOPI1IOBOM TIOMIAIN).

b. B nawame 18B. Ha Mecte 3manus [aBHoro mTaba (Ha J{BopIiioBoM

IUIOIA]IA) HAXOAUIICS PBIHOK.

4. There were lectures on physics on Friday.
a. Jlexuuu o ¢pu3uKe — B MSATHUILY.
b. Jlekiuu mo Gpu3nke ObUIM B IATHHILY.
C. B marHuiy ObUIM JeKuuK no Ppu3nke.

13



5. There are four paintings by Vincent Van Gogh in the Hermitage.
a. B Dpmutaxe dersipe kapTuHbl Buncenra Ban ['ora.
b. Uertsipe kapTuabl Buncenrta Ban ['ora naxoasitcst B OpMutaxe.
c. B Opmutaxe Obuio yetbipe kapTuHbI BuncenTa Ban [Nora.

3aganmne 4. Ilepenuinure npeNIoKeHHs] TaK, YTOObI MepeaaTh HX CMBICI,
HCHoJb3ysi ooopot “There be”. Ooparure BHUMaHue Ha popMmy riiaroJia “be”.

Oopaszen: The library had an old computer. => There was an old computer in the
library.

1. The Hermitage has a very valuable (uiennsrit) collection of Ancient Greek vases
2. Now the Mariinsky Palace is occupied (occupy — 3anumats) by the Legislative
Assembly (3akonomarensHoe coOpanwue) of Saint Petersburg.
3. St. Isaac’s Cathedral (co6op) has about 200 canvases (mosorna) by famous
Russian artists including Bryullov and Bruni.
. The library had some monographs (monorpacduu) on this problem.
. Saint Petersburg and its environs (mpuropossr) have rich collections of art
treasures (cokpoBwuiia).
6. In the Russian Museum you can see old Russian icons, works by many great
Russian masters of the 18" — 20™ centuries and by contemporary (cospemeHHBIiA)
painters and sculptors.

o~
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Tema S. CrenieHu cpaBHeHUS NMPUJIATaTeIbLHbIX U HAPEYU il

Tabmuna 5

CreneHu cpaBHeHHs NPWIATATEJIbHBIX U HApEYHil

Tlonoxurenpuas

CTCIICHb

CpaBHHTENBHAS CTENIEHD

[IpeBoCcXO1HAS CTETIEHB

1. OgHOCHOKHBIE MPHIIAraTENbHBIE

long — nuHHBIH

longer — munHee

the longest — camprii
JUTUHHBIN

2. MHOroC/0XHbIE TPUJIAraTeIbHbIE

important — BaXxHbI#

more 0osee BaKHBII
important
less MEHEE BAYKHBI

the most important —
caMblii BaXKHBIN

3. Uckimrouenus

good — xoporuii
well — xoporo

bad — rutoxoii

badly — mioxo

much
- MHOI'O

many

little — manenpkuii,
MaJio

better — syurie

WOrse — Xysxe
more - 0oJbliIe

less — menbIIE

the best — camprii yummi,

JydIlle BCEro

the worst — caMblii IIOXO,
XYK€ BCETO
the most — Gobie Bcero

the least — HaumenbIINi,
MEHBIIIE BCETO

CpaBHHTeHBHHe COIO3bI

aS... aS — TakoM ke KakK
not So... as — He TAKOU KakK

the... the —yem... Tem
(the more the better uem
0O0JIbIIIE, TEM JIYYIIIC)
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TecT Ne 5
CreneHy cpaBHeHHs MPUJIATaTeJIbHBIX H HApeYHid

3ananue 1. BoiOepuTe aHI/IMiiCKHE JKBUBAJICHTBI PYCCKHUX CJIOB, CTOSIIIUX B
CcKOOKaX. YKa:kKuTe NPpaBUIbHbIN BAPHAHT:

1. You know him (myume) than anyone else.
a. the best
b. best
Cc. better

2. Christopher Wren is (camsriit Bergarorumiicst) English architect.
a. much more outstanding
b. most outstanding
c. the most outstanding

3. Canada is (ropasmo 6o:bie) than France.
a. the biggest
b. much bigger
c. bigger

4. Which is (xy»e) a headache or a toothache?
a. worse
b. the worst
c. much worse

5. | feel (mamuoro nmyurie) today than yesterday.
a. the best
b. better
c. much better

6. This place is (Becbma Tuxoe) to have a rest.
a. more quiet
b. most quiet
c. much more quiet
d. the most quiet

7. Modern architecture is (menee) beautiful than that of the previous centuries.
a. the least

b. less
c. much less
d. little

16



8. This book was (kpaiine) interesting.
a. more
b. the most
c. most
d. much

9. Sydney Opera House is one of (cambiit u3Bectrsiil) modern buildings.
a. most famous
b. more famous
¢. much more famous
d. the most famous

10. Excuse me. Where is (0mmxkaiimmii) bank?
a. nearer
b. the nearest
c. much nearer
d. near

11. Good health is (Baxuee) than money
a. the most important
b. much more important
C. most important
d. more important

3amanue 2. BoiOepuTe npaBMiIbLHBIH NEPEBO CJI0BA “MOSt”.

a. caMblii, HanOoIEee

b. oucHb, BecbMa, KpaiiHe
C. OOJIBIIMHCTBO

d. OdubIas yacThb

. Most of the work had been finished by Friday.

. The problems discussed at the conference were most interesting to everyone.

. He spends most of his free time working in the garden.

. The West End is the most fashionable shopping (MoxHbI TOproBsIii) centre in
London.

5. Most of the participants (yaactauku) of the Workshop (cummosuym) are staying

in the Astoria Hotel.

6. Money is important but it isn’t the most important thing in life.

. China is the most populated country in the world.

8. It is most important not to forget to return the books to the library in time.

A WN

\l
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3ananue 3. BriOepurte npaBUJIbHBIN NEPEBOJ AHIJIMMCKUX MPEAI0KCHUI:

1. | have seen much more beautiful architectural monuments than this one.
a. S Bugen Oosiee mpeKkpacHbIe APXUTEKTYPHbIE TAMSATHUKH, YEM ITOT.
b. S Bumen ropasmo OOJbIIE MPEKPACHBIX APXUTEKTYPHBIX TAMSTHUKOB ....
C. A Bugen ropasno 6ojee NpeKpacHble apXUTEKTYPHbIEC TAMSITHUKH, YEM 3TOT.

2. She isn’t as busy today as she was yesterday.
a. Ona He Tak 3aHsjTa CEroJHs, KaK BUYepa.
b. Omna TaK ’xe 3aHsATa CErOAHs, KaK BYepa.
C. Buepa ona He Oblna Tak 3aHATA, KAK CETO/IHS.

3. This task is not so difficult as the rest ones.
a. 910 3a/IaHUC TAKOC K€ TPYAHOC, KaK U OCTAJIbHBIC.
b. OCTaJIBHBIe 3alaHUA HEC TAKUC prI[HBIG, KaK 9TO.
C. D10 3aIaHNUC HC TAKOC TPYAHOC, KaK OCTAaJIbHBIC.

4. | need the information now, so please let me know as soon as possible.
a. MHe HyxHa nHpopmaius ceifuac, mOITOMY, YeM CKOpee Thl MHE COOOIIMIIIb
e€, TeM Jyquie.
b. MHe Hy)XHa UHpOpPMALUs ceddac, MOITOMY, MOXKATYHCTa, OO0 MHE e
cenyac.
C. Mue nyxHa uHpopManus cedyac, MOITOMY cOOOIM MHE €€ KaK MOXKHO
CKopee.

5. The more complicated the problem, the harder it is to find the solution.
a. Jlnsa Gosee CIOXKHBIX IPOOJIEM TPYyIHEE HANTH pEIICHHE.
b. Uewm crnoxnee nmpobiiema, TeM TPYJHEE HAWTH PELICHHUE.
c. Jlaxe nis Gosiee CIIOXKHBIX MPOOJIEM HAXOAT PEIIeHNE.

6. Chip packing should be as uniform as possible.
a. YIUIOTHEHHE LIEIbI JOJDKHO OBITh KAK MOYKHO OoJjiee PaBHOMEPHBIM.
b. YmioTHeHHe mIEIbI, BO3MOXKHO, OYACT pAaBHOMEPHBIM.
C. YmioTHeHHe menbl JOJIKHO OBITH TAKUM K€ PaBHOMCPHBIM.

7. The faster the substance burns, the more heat it gives off.
a. Korpma BemiecTBo roput ObicTpee, OHO BBIICNSAET OOJIbIIE TEIUIA.
b. Uem OoJbilie BemecTBa rOPUT, TEM OOJIBIIE BBIIEISCTCS TEIUIA.
c. Uewm ObIcTpee BEMIECTBO TOPUT, TEM OOJIBIIE BBIACISACTCS TETLIA.
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Tema 6. BpemeHa riiarojioB B 1efiCTBUTEJILHOM 3aJ10T€

Ta6numa 6
BpeMeHa aHIVIMICKOIO I171arojia B 1eHCTBUTEIbHOM 3aJ101¢
YT1BepauTenpHas BonpocurensHas OtpunarenbHas
dbopma dbopma dbopma
Usually, sometimes, often, always, never, as a rule,
every day (month, week), regularly.
=| 1, you, } Do 1, you } l, you, }
% we, they J explain we, theyJ explain? we, they) don’texplain
a
He, she, it explains Does he, she, He, she
@ it }explain? it }doesn’texplain
=
:"3—’ g Yesterday, last year (month, week), 2 days (years) ago, in 2000.
[
3§
= a1, you |, you I, you
.(% Q- | we, they }explained Did we, they }explain? we, they didn’t explain
he, she, itV wrote he, she, itJ write? | he, she, i write
Tomorrow, next month (year), in two weeks (days), in 2030.
| |, you I, you I, you
5 : : : : , .
=| we, theyi}wll exp_laln Will  we, the)_/ }exp_laln? we, they_t}won t exp!aln
- | he, she, write he, she, it) write? he, she, i write
Now, at the moment, at present, currently.
I am Am | I’m not
He he He
% She (is explaining |Is she }explaining? She}isn’t explaining
4 It writing it writing? It writing
[a
S o |You you You
a g | We rare Are we } We (aren’t
S F They they The
o o
E o]
g 5 This time yesterday, from 9 till 11 yesterday, the whole evening (yesterday),
=] ;:)r when he came...
£ & N I |
S| |He| Was he He
© | She (was she She{ wasn’t
6_‘8 It it It
explaining explaining explaining
You writing you| writing You writing
We rwere Were we We (weren’t
They the They
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[Tponomkenue Tabnuibl 6

, she, it written

YT1BepauTenpHas BonpocurensHas OTtpunarenpHas
dbopma dbopma dbopma
This time tomorrow (next week), from 9 till 11 tomorrow.
o| I, you I, you I, you
g we, they | will be Will  we, they | be we, they | won’t be
L | he, she, it| explaining he, she, it pxplaining? | he, she, it | explaining
Just, already, ever, never, yet, for, since, recently, lately, of late, this (week,
month), today.
l, I I, A
You you You [
§ We have Have we We [haven’t
2| They they They
ol & explained explained? explained
? written written? ) written
o He, he, He, |
s S She ( has Has she She [ hasn’t
g |t it It
Q E By 2 o’clock yesterday, by the Ist of June, by some time in the past.
>
Q J2 I, you I, you I, you
E a : : :
We, they}\ad explained Had we, they} explained? | we, they}\adn’t explained
he, she, i written he,she, il written? | he,she,i written
By next Tuesday, by 3 o’clock tomorrow, by some time in the future.
(D)
E l, you v}‘ Jn;el, you { you
LL | we, they vpill have explained | Will e, they have explained 1We, they won’t have explained
he, she, it written e he, she, it written

Tect Ne 6

BpeMeHa ri1arosioB B 1efiCTBUTEJIbHOM 3aJ10Te

a. Present Simple

b. Past Simple

c. Future Simple

d. Present Continuous
e. Past Continuous

f. Future Continuous
g. Present Perfect

h. Past Perfect

I. Future Perfect
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to work out — pa3zpabaTbIBaTh
1. worked out
2. has worked out
3. will work out
4. works out
5. were working out
6. work out
7. had worked out
8. are working out
9. have worked out
10. will have worked out

3ananmue 2. BoiOepuTe npaBUIbLHYI0 (pOPMY HEIOCTAIOIIEH YACTH CKA3yeMOro:

1. .... you like poems by M. Lermontov?
a.are b.do c.is

2. She .... had two exams this week.
a.has b.had c. will

3. Who are you .... for?
a. waited b. wait c. waiting

4. When .... Pierre and Marie Currie discover radium?
a. have b. did c.do

5. She .... rewriting her test at the moment.
a.has  b.was c.is

6. | have always .... in the pulp and paper industry.
a.work  b.working  c.worked

7. People .... doing enough to save (cmacarte) nature.
a.isnot  Db.arenot c.have not

8. Students will ... with local families in Cambridge.
a. live b.tolive c. lives

9. Did she .... any problem with the language while in Finland?
a.had Db.has c.have

10. When they came to our city, they .... staying at the Europe Hotel.
a.are b.were c.willbe

21



3ananue 3. Haiigure ckadyemoe B KaxaoM npemioxenud. Hamummure
BCIIOMOIaTeJbHBIN IJ1aroj, KOTopbiii Bel ynorpedouan Obl 11 00pa3oBaHus
BOIIPOCHTEILHON MJIM OTPHLATEIbHOH (DOPMBI.

1.
2.

N O

In Britain, unlike other European countries, cars drive on the left.

More young people over the age of 17 are learning to drive and taking
driver’s license tests in Britain nowadays.

The Bank of England controls other British banks, issues banknotes and acts
as the government’s banker.

In 1999 many pensioners in Britain spent two-thirds of their money on
housing, fuel and food.

The temperature rises during this process.

| have looked through some special journals before writing the paper (ctaTsbs).
He left the laboratory very late.

Average (cpennuii) temperatures in England and Wales vary from 4° C in
January to 16° C in July and August.

3ananue 4. BoiOepuTe moaxoasiiee Mo CMbICJIY CJI0BO, YYUTHIBASK BPeMs IJ1aroyia-

CKa3yeMoro:
a. yesterday h. already
b. ago I. just
c. tomorrow J. last year
d. now K. this year
e. often l. today
f. yet m. for
g. when n. since

1. He will meet us outside (y) the theatre ..

no

o ok

~

Have you finished writing your course paper (xypcoBast pabora) ...
Pollution prevention (mpemoTBpaliieHue 3arps3HEHHS OKPYXKAloOIIeH cpenbl) IS
.. our main goal (uens).
.. publishes his works in the transactions (tpyxsr) of our University.
He gave a talk (give a talk — caenates coobmenwue) at the conference ...
We have ... installed (install — ycramaBmmBate)  modern equipment
(obopymoBanue) in our laboratory.
Has your group had practical training (mpakrtuka) at any mill ...?
Their company has made good progress .... 2002.
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Tema 7. MoaajdbHbIE IJ1ar0JbI U UX JKBUBAJIEHTDI

Tabmuna 7.1
3HaYyeHUs MOAAJIBHBIX IJIAr0JI0B B AHIJIMIACKOM A3BIKE
3HayeHHue MoaajJabHBI I1aroJ
Cnocobrnocmo can could
(6 npowiiom)
Bosmooacnocmo can could may might
(obwas unu
meopemuyeckas)
Paspewenue can may
(¢popmanvroe)
IIpocvba can/ will may would
could
(¢popmanvnas)
Ob6sa3amenvcmeo must have to
(6 ces3u ¢
obcmosmenvcmeam
u
Omcymcmaeue don’t have to needn’t
obsa3amenvcmea
Bv1600/0edykyus must should can’t
3anpem mustn’t can’t may not
Cosem should ought to might could
Taomuna 7.2

HN3MeHeHHe MOJAJIBHBIX IJIAr0J10B U UX JKBUBAJIEHTOB 110 BpeMECHaM

MopanabHbI Bpemena
rJ1aroJ Present Simple Past Simple Future Simple
U ero
3KBHUBAJICHT
Must must work had to work will have to work
to have to have (has) to

work
Can can work could work will be able to work
to be ableto | am (is, are) able | was (were) able to

to work work
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[Tponomkenue Tadbauibl 7.2

May may work might work will be allowed to work
to be allowed |am  (is, are) | was (were) allowed
to allowed to work | to work

to be to am (is, are) to | was (were) to work
work

should This machine
(+ waduauTus | should be handled
0e3 “to”) carefully.

C 3TOi1 MalmMHOU
CclenyeT
oOparmaTecs
OCTOPOXKHO.

ought to The result of this
experiment ought
to be checked.
Pesynerar 9TOr0
SKCIIEpUMEHTa
cienyer
MPOBEPHUTh.

Tect Ne 7
MoaaJibHbIE IJIAr0JbI 1 UX IKBUBAJICHTBI

3apanue 1. Hanumure mnepeBoa [JaHHBIX COYEeTAHHMH € MOJAJIbHBIMH
rjarojaMu WJIH HX JKBHBAJEeHTAMH, yKa3aB IMOAXo/silllee MeCTOUMEHHE B
Ka4decTBe MOoJIeKaliero.

1. could read 8. will have to read

2. may read 9. are to read

3. needn’t read 10. should read

4. was able to read 11. mustn’t read

5. must read 12. will be able to read
6. might read 13. were to read

7. doesn’t have to read 14. can read

3ananue 2. BpiOepuTe HY:KHBIIi MOJAJIBHBIH IJ1aroJ WIH €ro 3KBUBAJIEHT,
KOTOPbI Bbl HCHOJIBb30Ba M ObI MpPH MepeBoAe CACAYIOUUX MPeAJI0KECHUM.
PsgoM ¢ HOMepoM mnpelioKeHHMsl HANUIIMTEe BbIOpaHHbIM Bamu riaroa B
HeoOxoaumoii ¢popme. Beé npensioxkenune nepeBoIuTh He HYKHO.

TI'nazonwr: must, can, may, should, needn’t = don’t need to, have to, be to.
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. OH BbIHYX/IEH paboTaTh ¢ yTpa J0 MMO3/IHETO Beuepa, 4ToObl 3apadoTaTh Ha KU3Hb.

. MBI 1O7KHBI CAENATh 3TO YIPa)KHEHHUE MUCbMEHHO.

. Bam Obl cienoBasno ObITh BHUMATENIbHEE.

. Het Hukakoil HEOOXOAMMOCTH €XaTh B MEPETIOJTHEHHOM aBToOYyCE.

. Tynia MO>XHO JJOMTH MEUIKOM 32 1€CATh MUHYT.

. OHa nporycTuiaa MHOTO 3aHATHN. Bl mpuaercs npuxoAuTh Ha KOHCYJIbTALMH.

. Bol Morniu Ob1 B35ITh 3TY KHUT'Y IOMO#, HO 00513aT€JIbHO MPUHECUTE €€ 3aBTpa K
OTKPBITHIO OMOIHOTEKH.

8. MHe HY>KHO CXOAMTh HA MOYTY U NOJYYUTh 3aKa3HOE MUCHMO.

9. HaM npunuioce B3STh TAKCH, YTOOBI HE ONO3JAaTh HA CAMOJIET.

10. 3BuHMTE, MOXKHO 51 BOCIOJB3YyIOCh Bammum tenedonom?

11. 5 cMory cXOauTh B XMMYHCTKY TOJIBKO B cy0060Ty. BCro Henemto st paboTaro u

3aKaHYMBAIO OYE€Hb MO3/HO

NN W

3ananue 3. BpiOepuTe HYKHbIN MOJAJBHBIN IJIaroJ WM €ro JKBUBAJICHT.

1. He ... leave at four to catch the train.
a. can
b. must
c. hasto

2. We ... cross the street now, there is a red light.
a. can’t
b. mustn’t
C. don’t have to

3. ... I open the window? — No, it’s very cold in here.
a. must
b. may
c. do ... have to?

4. The children ... swim here, the river is too deep (ray6oxkuwuii) in this place.
a. can’t
b. don’t have to
C. mustn’t

5. What language were they speaking? | ... understand them.
a. can’t
b. might not
C. couldn’t

6. You have much time to decide (mpunsThH pemnienue, pemunTs), you ... decide now.
a. can’t
b. don’t need to
C. shouldn’t
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7. 1 haven’t called my granny for some days. I ... phone her tonight.
a. must
b. need
c. ought

8. He can stay in bed a little longer because he ... go to work today.
a. mustn’t
b. can’t
C. doesn’t have to

9. We ... meet at the theatre, but he couldn’t come to the performance.
a. haveto
b. were to
c. hadto

10. My teacher says | ... pay more attention to my pronunciation.
a. can
b. should
c. may

3ananue 4. BoiOepure BapUaHT NMepeBo1a, KOTOPbI TOUHee MepeaaeT CMbICI
AHTJIMHCKOTO MPeIJI0KEeHHU.

1. He may be waiting for you downstairs.
a. OH MoXeT JKIaTb BaC BHU3Y.
b. Omn, BeposITHO, JK/J1aJ1 BaC BHU3Y.
C. OH, BO3MOJXKHO, JKJIE€T BAC BHU3Y.

2. Somebody must have told him the truth.
a. Krto-T0, MOKHO OBITh, CKa3aj eMy MpaBy.
b. Krto-To moimkeH ObUT CKa3aTh eMy MpaBy.
€. Kro-To momxeH ckazaTb eMy MpaBiy.

3. Will he be able to do the new job himself?
a. OH MOXET cenath HOBYI0 padborty cam?
b. OH cMOXeT caeaaTh HOBYIO paboTy cam?
c. Emy paszpemiat camomy crnenaTh HOBYIO paboTy?

4. You should verify these results.
a. Tebe cnemyeT mMpOBEPUTH ITH PE3YIHTATHI.
b. Tebe Hy)HO TPOBEPUTH ITH PE3yJIbTATHI.
C. Tsl Mor OBI MPOBEPUTH 3TU PE3YIBTATHI.
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5. We might have met at the conference.
a. MBpbI, T0KHO OBbITh, BCTpEYAINCH HA KOH(PEPEHIUU.
b. Mbl, BO3MOXXHO, BCTpEUAIHCh Ha KOH(EPCHIIHH.
C. MbI MOXeM BCTPETUTHLCSA HA KOH(EPEHIIUH.

6. She must be having lunch.
a. Omna JoipKHA IT000eIaTh.
b. Omna, nomxHO OBITE, MOOOETANTA.
c. Omna, ckopee Bcero, ooenaer.

7. You might have followed my advice.
a. Tbl, BO3MOXKHO, IMOCJIEAYEIIbL MOEMY COBETY.
b. Tsl Mor OBl IOCJICIOBATH MOEMY COBETY.
c. Tebe cienoBano ObI MPUCTYIIATHCS K MOEMY COBETY.

8. He should have taken another subject for his thesis.
a. EMy HY>HO OBUIO B35ITh APYTYIO TEMY JJIS TUCCEPTAIIH.
b. EMy cienyer B34Th APYryI0 TEMY JJIsl JUCCEPTALIHH.
C. EMy M0OHO OBLJIO B35ITh JPYTYIO TEMY JUIsl IUCCEPTAIIUU.

9. Why have you left the money in the car? You shouldn’t have done it.
a. Tebe He cieayeT 3TOTO JeaTh.
b. Tel He HODKEH JIeNaTh 3TOTO.
c. TwI He cile0BalIo JIEnaTh ATO.
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Tema 8. CTpagaTesbHbIN 32J10T IJ1aroJioB

Tabnuua 8.1

BpeMeHa AHIJIMIICKOIO IJ1aroJjia B CTpaaaTejbHOM 3aJi0re

be + Participle Il

YT1BepauTenpHas
dbopma

BonpocurensHas
dbopma

OtpunarenbHas
dbopma

Usually, sometimes, often, always, never, as a rule,
every day (month, week), regularly.

I am Am | | am not
2 You, invited you invited? | You, invited
& | we, they [are taught | Are we, they[ taught? | we, they|aren’t taught
He, she, it is Is  he, she, it He, she, it isn’t
Q
=
E § Yesterday, last year (month, week), 2 days (years) ago, in 2000.
<
-_
%_é l, he, Was |, he, l, he,
E 7| she, it [was she, it she, it (wasn’t
@ e invited invited? invited
You taught | Were you |taught? | You taught
we, they(were we, they we, they(weren’t
Tomorrow, next month (year), in two weeks (days), in 2030.
ol I, you I, you I, you
2| we, they will be invited | Will we, they beinvited? | we, they won’t be invited
| he, she, i taught he, she, it taught? | he, she, i taught
Now, at the moment, at present, currently.
© | am being Am | being I’m not being
2 ,
% ] He he He
<} § % She ris being invited | Is shelbeing invited? Shelisn’t being invited
% g gl It taught it taught? It taught
S B a
o Z \
2 You you You
£ We rre being Are we rbeing We taren’t being
S They they The
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[Tponomxenue Tadbauuel 8.1

YT1BepauTenpHas
dbopma

Bomnpocutensnas gpopma

OTtpunarenpHas
dbopma

This time yesterday, from 9 till 11 yesterday, the whole evening (yesterday),

when he came...

he,she,#t invited/taught

he, she,it invited/taught?

He Was he |being He
| Shefwas being she She wasn’t being
3| 1t invited it invited? | It invited
S5 taught taught? taught
3 8 | You you You
= We pvere being Were we peing We weren’t being
SE They the The
This time tomorrow (next week), from 9 till 11 tomorrow.
o
2
I
Just, already, ever, never, yet, for, since, recently, lately, of late, this (week,
month), today.
I, I l,
You you You
= We [ have been Have we |been We | haven’t been
@ The the The
o invited invited? invited
taught taught? taught
= He, he, He,
8 S She | has been Has she|been She (hasn’t been
e B |t it It
Q é By 2 o’clock yesterday, by the Ist of June, by some time in the past.
3|1, you }‘ I,you]b l, you }m
we, they had beeninvited | Had we, they peen invited? | we, they hadn’t been invited
he, she, I taught he, she, it taught? | he,she, i taught
By next Tuesday, by 3 o’clock tomorrow, by some time in the future.
(5]
g I, you I, you l, you
L we, lheyivill have been Will we, methave been we, they }von’t have been

he, she/ it invited/taught
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Ta0Onuna 8.2

Croco0bI mepeBoaa cTpajgaTeIbHOIO 32J10ra

Cnocob nepeBoga IIpumep IlepeBon
l. Couerannem rmarona | The paper was written | Crarbs Obula HamucaHa B
«OBITHY c KPaTKUM | |ast year. IPOLLIOM TOy
CTpaJaTeNbHbIM  MPUYACTHEM is written HanucaH
mpomeaAmero BPEMCHU C has been written OBLI HAaMCaH

cypdukcom -H wnu -1. ['maron
«OBITH» B HACTOSIIEM BpEMEHU
HE NIEPEeBOIUTCS

had been written
will be written
is being written

ObLI HAITMCaH
OyIeT HalucaH
[MUIIETCS

2. TI'marosmom Ha
COOTBETCTBYIOIIEM
JIMIE Y YUCJIIE

-csi B
BPEMEHH,

The excavations were
made on the left side of
the hill.

Packonkyn npov3BoaWmckE €
JIEBOM CTOPOHBI XOJIMa.

3.I'1aroiom geucTs. 3aj0ra B 3
JIMI€ MHOKECTBEHHOTO YHCIIa
B HEOIPEEICHHO-TMYHOM

The excavation was
made with great care.

Packonky npousBoguiu c
OO0JBIIION OCTOPOKHOCTBIO.

IPETIOKEHUN

4. [ maronsr THOCAIIIUMCSA K - HOBOM TKPBITUN
TArofibl ¢ OTHOCAWMMCA K | Tho novy discovery was | 2—HOBOM  OTKp

HUM HpeJIJIOFOM, KOTOpLIe MHOT'O_TOBOPHJIN.

MEPEBOIATCS TAK)KE TIIarojgaMu
C MPETOTOM:

to deal with — umeTs nmesno c,

to depend on — 3aBuceTs 0T,

to look at — cmoTpeTsh Ha,

to refer to — ccputaTHCA HA,

to rely on — onuparscs Ha,

to send for — mocnare 3a,

to speak of (about) —roBoputs 0

U ApyTrue IEPEBOAATCS
rjaroJlaMd B HEOIP.-JTHYHOM
dhopwme, puvIeM
COOTBETCTBYIOIIMIA  IIPEIIOT
CTaBUTCS TIEpe]] IMOIJICIKAIIMM
AHIJIMICKOTO IPEITOKEHHUS

much spoken about.
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[Tponomkenue Tabauibl 8.2

Cnoco0 nepeBoga Ipumep IlepeBon
5. T'maromer Oe3 mpemioros, | His creative work had [Ha ero  TBOpuecTBO
KOTOpBIC nepeBozsTcs | been greatly influenced | cunbHO J00): 300567001
rJIaroJIaMu C TMPEIIOTOM: by Dutch painters. TOJUTAHICKHE XYI0KHHKH.

to affect — Bo3geiicTBoBaThH Ha,
to answer — oTBe4aTh Ha,

to attend — mpucyTcTBOBaTH Ha,
to follow — caenoBars 3a,

to influence — Biauars Ha

u JpyTHE TIEPEBOIATCS
TJIaroJiaMu B HEOIPEEICHHO-
JU4YHOM  Qopme,  MpUYEM
MEepPeBOI HAJI0 HAYMHATH C
MpeJiora, MOCTaBUB €ro mepes
IoIeXKaIlIUM aHTJINNCKOTO
TIPEJITIOKEHUS

Tect Ne 8
CrpaaaTesibHbIii 32J10T IJ1aroJioB

3ananue 1. BoiOepute GopMBbI IJ1ar0ji0oB B CTPAAATEJIBHOM 32J10T€. YKAKUTE
BpeMsi M IepeBeAuTe, IMOCTABMB Meped BbIOpaHHoOH ¢opmoil Jr000e
Nnoaxosiiee mo CMbICJIy MeCTOMMEHHe.

1. to calculate — nmoxcuursiBaTH
is calculating
Is calculated
are being calculated
has calculated
was calculating
was being calculated
were calculating
will be calculating
have been calculated

—TQ@ o o0 o

2. to complete - 3akaHYHMBaTH
are completed
will be completed
had completed
has been completed
have been completed
IS completing
were completed

Q@0 oo0 o
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h. will be completing
I. are being completed

3aganue 2. YKaxure MNpeAIOKEeHHe, CKa3yemMoe KOTOpPOro CTOMT B
CTpagaTeJIbHOM 3aJiore.

1. a. The commission has given some useful recommendations.

b. The recommendations given by the commission were useful.

c. Some useful recommendations have been given by the commission.

2. a. The administration (pyxoBozctso) approved (approve — ogo6psits) of the idea.
b. The idea was approved by the administration.
c. The idea approved by the administration was quite realizable (ocyrecrBrmbIiA).

3. a. Seat-belts (pemuu 6e3omacuoctn) have saved (save — cracats) many lives in
Britain since 1983.

. Seat-belts have been saving many lives in Britain for about 25 years now.

. Many lives have been saved by seat-belts in Britain since 1983.

O T

. Biomass can be used (use — ucrions3oBars) t0 produce (muist mpousBoscTBa) ENergy.
. We can use biomass to produce energy.
. Using biomass we can produce energy.

O oo

3ananue 3. YKaKuTe NPaBUIbHBIN MepeBojl NMpeioKeHUIA.

1. Lasers have been built on the basis of transistors.
a. Jlazepsl ObUTH co37aHbI Ha Oa3e TPAaH3UCTOPOB.
b. Jlasepsl coznaroTcs Ha 0a3e TPaH3UCTOPOB.
C. Tpan3zuctopsl ObUTH CO3aHBI Ha Oa3e Ja3epoB.

2. The rate of the reaction is acted upon by many factors.
a. Ha cxopocTh peakiinu BIHSIN MHOTHE (aKTOPHI.
b. Ha ckopocTh peakiuu BIUSIOT MHOTHE (PaKTOPHI.
C. Ha mHoOrme ¢gaktopsl BIUSET CKOPOCTh PEAKIIUU.

3. The liquid was turned into a solid.
a. JXunakocTts npeBpamaercs B TBEPA0E BEMIECTBO.
b. TBepmoe BemecTBO MPEBPATIIIOCH B )KHIKOCTb.
C. XXuakocTe npeBpaTUiiach B TBEPAOE BEILIECTBO.

4. My sister is often given books by her friends.
a. Jpy3ps 4acTo mapuiv KHUTH MOEU CECTPE.
b. Jlpy3bs 4acTo mapstT KHHTH MOEH cecTpe.
Cc. Mos CCCTpa 4aCTO AAPUT KHHUI' CBOHUM JAPY3bSIM.
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5. The rates and molecular weights are affected by lowering the temperature.
a. Ha nmoHm»xeHue temieparypsl BIHUAIOT CKOPOCTU U MOJIEKYJIIPHBIE BECa.
b. Ha ckopocTy U MOJIEKYJISIpHBIE BeCa BIHSIIO MMOHMKCHHUE TEMITEPATYPHI.
C. Ha cxopocTtu 1 MOJIEKYJISIpHBIE BECA BIUSCT IOHUKEHUE TEMIIEPATYPHI.

3ananue 4. YKaxuTe NpaBU/IbHBIN MEPeBO] CJACAYIOIIMX MPeI0KEeHUM.

1. DTa cTaThs 3aTparuBaeT OYEHb BAXKHYIO POOIEMY.
a. A very important problem was dealt with in this paper.
b. This paper deals with a very important problem.
c. This paper dealt with a very important problem.

2. Iloce HOBOTO crieKTakist 00 ITOM AKTCPC MHOT'O TOBOPUJIN.
a. The actor was speaking much after the new performance.
b. The actor was much spoken to after the new performance.
c. The actor was much spoken of after the new performance.

3. Pabounie peMOHTHPYIOT YCTAHOBKY.
a. The workers have repaired the installation.
b. The installation is being repaired by the workers.
c. The workers were repairing the installation.

4. Ha 3apsii aToMa HE BIMSIET YUCITIO MPUCYTCTBYIOLIUX B HEM HEHTPOHOB.
a. The charge of an atom was not affected by the number of neutrons present.
b. The number of neutrons present is not affected by the charge of an atom.
c. The charge of an atom is not affected by the number of neutrons present.

3ananue 5. BoiOepuTe npaBWIbHYI0 (POPMY IJ1aroJia-cKa3yemoro.

1. Nearly two-thirds of homes in England ... after 1945.
a. have built
b. have been built
c. was built
d. were built

2. In Wales Welsh (yansckuii si361x) and English ... in official situations.
a. is used
b. are used
c. has been used
d. are using

3. If you want to get out of town for some fresh air, the town ... by beautiful countryside.
a. is surrounded (surround — okpy»aTh)
b. is surrounding
Cc. surrounds
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4. Most of the Earth’s surface (moBepxHocts) .... by water.
a. covers
b. is covering
c. Is covered

5. Various ideas ... recently.
a. were proposing (propose — npeJiarartb)
b. has been proposed
c. have been proposed
d. were proposed

6. The bridge ... by the flood (naBoguenue) three months ago.
a. has damaged (damage — noBpexath)
b. was damaged
c. is damaged
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Tema 9. IlpuuacTus

Ta6nuna 9.1
DyHKUUHM NPHYACTHSA
Bun DYyHKIUSA B IPEeJAJI0KEHUH U NEPEeBOJ
npuvyactusi | Yacrb ckazyemoro | Onpenesenue O0cTOATENBCTBO
1. Participle I, | They are building | The young men building | He made his living
Active Voice | a new museum. our house with me are | building summer
building Onu crpost HOBBIH | My elder brothers. houses and garages for
My3eil. Mounozsie aroau, | people.
(Jdns oOpa3oBanus | crposiipe oM BMmecTe | OH 3apabarbiBan Ha
BpEMEH TPYIIIBI | CO MHOM, - MO OpaThs. | )KU3Hb, CTPOS JIOASIM
Continuous. (ITpuuactust Ha -mUiA, - | 6ECENKU U TapaXKu.
CaMoCTOsTENIbHO BIIIWIA) (leempuuactue Ha -a,
HE TIEPEBOJTUTCS) -51)
2. Participle I, | The mansion is | The white stone house | Being built with great
Passive Voice | being built with | being built near the park | skill and care, the
being built great skill and care. | is a new building of our | mansion had been used
Ocobnsik ctposaT c | Art Museum. by the family for
00JIBIITUM BenokamenHoe centuries.
MacTEPCTBOM. COOpY’KEHHE, Tak kak OCOOHSK ObLI
(s oOpazoBaHus | cTposiieecs y nmapka, - | HOCTPOEH OYCHb
BPEMCH IpyHaIbl | HOBOC 3JTAHUC HAIICTO HCKYCHO, OH CIYXHUT
Continuous MYy3esi U300pasUTEbHBIX CEMbE YK€ HECKOJIBKO
MACCUBHOI'O 3/I0rA. | HCKYCCTB. BEKOB.
CamMoCTOsTEeNIbHO (IMpuuacTust Ha -embiit,  |(IIpumaTtounoe
HE TIEPEBOTUTCS) -AMBIH, -IIIHICS) OOCTOSITENIbCTB.
MIPEAJIOKEHUE W
0OCTOSITENLCTBO,
BBIPQXKEHHOE CyII. C
MIPEJIOTOM)
3. Participle Il, | 1). We have just | They are reconstructing | If built of the local
Passive Voice | built a new summer | the house built in the | stone, this rode will
built, written | house. 18" century. serve for years.
Msb1  TosbkO uTO | OHH pecraBpupytot | Eciu IOCTPOUTH
MOCTPOUJIM HOBYIO | 3JaHUE, HNOCTPOEHHOE B | IOPOTY W3 3TOrO
Oecenky. 18-om Beke. MECTHOT'O KaMHs, OHa

(Ins obOpaszoBaHus
CJIO)KHOTO BPEMEHU
Perfect.
CaMocTOsITEIIBHO ~ HE
TICPCBOIVTCS)

2). This house was
built in the 18®
century.

OtoT  noM  OblI
noctpoeH B 18-om
BEKE.

(ITpuyactust Ha -MBbIH, -
HBIH, -ThIH, -BIIUICS)

OyZeT CIy>KUTh JIOJITUE
TOIbL.

(ITpunaTounoe
0OCTOSITEIbCTBEHHOE
MpeAJIOKEHUE WIH
00CTOSATEILCTBO,
BBIPQ)KEHHOE CYII. C
MPEAJIOrOM)
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[Tponomxenue Tadbauusl 9.1

YacTb ckazyemMoro Omnpenenenue O0CcTOATENBCTBO

4. Perfect Having  built the

Participle, house, he began

Active Voice building a

having built greenhouse.
IloctpouB nA0M, OH
HPUHSAICI 3a
OpaHXepero.
(deempuuactue Ha -
aB, -MB)

5. Perfect Having been built of

Participle, concrete, the house

Passive Voice was always cold in

having been winter.

built Tak kak 70M ObLI
IHOCTPOCH U3 6€TOHa,
B HEM Bcerma ObLIO
XOJIOJHO 3UMOI.
(ITpunatouHoe
00CTOSATENLCTBEHHOE
MIPEJIOKECHUE)

Taomuna 9.2
He3aBucumplii Npu4acTHbIN 000pOT
IIpumepsi IlepeBog
The conference being over, the | Korza (uocne roro xak) xomdepenuus

participants went on an excursion.

3aKOHYMJIACh, YYACTHUKHU IOeXajlu Ha
IKCKYPCHIO.

Their work completed, the secretaries
left.

Korga mx pabora Oblla 3aKOHYEHA,
CeKpeTapu YIILIH.

The territory extends for about 150 miles,
with a breadth varying from 50 to 100

Teppurtopust mpoctupaercs Ha 150 mub,
[IpUYEM IIIHPHHA ee n3MeHgercsa ot 50 go

miles.

100 MUIb.

There being nobody in the room, he
decided to wait.

Tak kak B KOMHAT¢ HUKOTO HE 61:1.]'[0, OH
PCUINII ITIOAO0KIAATD.

Many technical and scientific problems

Korma ObpuiM  pelleHbl  HAV4YHBIE U

having been solved, the first space flight
could be realized.

TCXHHUYCCKHUC HDO6H6MH, CTajlIa BO3MOXKHa
peajin3anuAa IICPBOIro 1moJjcTta B KOCMOC.

Many men preceded Newton in the field
of mechanics, perhaps the most

outstanding being Galileo.

Muorue npeamectsoBanu HproToHY B
00JacT MEXaHUKH, BO3MOYKHO, CaMbIM
BBUIAIOIIMMCS U3 HUX Ob1 ["anuieo.
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Tecr Ne 9
IMpuyacrTus

3aganme 1. Yka:xkute npaBuiibHYI0 GOpMY NpUYACTHSA.
Participle | Active

Participle | Passive

. Participle 11

Perfect Participle Active

Perfect Participle Passive

® oo o

The article translated by the student is difficult.

Having mentioned the name of Volta, the teacher spoke about his invention.
Being used to produce energy the reactor produces it in the form of heat.

The temperature of hot flowing metal can be easily measured.

Having experimented with electricity and magnetism, Gilbert wrote a book on
magnetism.

The oil having been exhausted, the engine stopped.

The test referred to above can be easily made.

8. The motion of the boiling water is caused by the bubbles of vapour.

aObrwphE

o

~

3amanue 2. YKaxuTe NPAaBUILHYI0 (PYHKIIUIO IPUYACTHS.

OIIPCACIICHUC

00CTOSATEIHLCTBO

BXOJHUT B COCTaB CKa3yCMOI0

BXOJHUT B COCTAaB HC3aBHUCHUMOI'O IIPUIACTHOI'O 06op0Ta.

oo o

1. Water falling (magaTs) from its raised position (BsicoTa) changes potential
energy into Kinetic energy.

Decreasing (ymensinats) the temperature we slow down (3amemtsars) the reaction.
My brother finished his work, his friend having helped him.

The experiment described (ormceiBath) attracted everybody's attention.

The pyrometer (mupomeTp) is a device measuring temperature.

The article (ctatss) is being translated by the student.

The resistance (compotusiienue) being very high, the current (au1. Tok) in the
circuit (wers) is low.

8. Being used in industry, electric motors are also used in every home.

Noabkown

3aganue 3. YkaKuTe NpaBUIbHBIN NepeBo] NPUYACTHS.

1. The sources (ucrounukmu) of energy usually employed to produce current are
either chemical or mechanical.
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UCIIONb3YS
HCIIOJB3YIOIINE
HCIIOIb3YEMBIE

T.K. UX UCIIOIB3YIOT

o0 op

Working at his new device, the inventor made numerous improvements.
a. paboTaromuii

b. mpopabGoras

c. pabotas

d. paspaboraHHBIH

Having been used for a long time, the instrument lost its former (mpesxuuii)
efficiency (appextuBHOCTD)

a. HCIIOJb3yEeMbII

b. wucmonb3ys

C. HCHOJB3YIOUIUN

d. T.K. ero ucrnoibp30BaIH

Scientists have transformed solar (conneunsrii) energy into electric energy
using semiconductors (rmosynpoBOIHUKH).

a. UCIOJb3YIOLINN

b. wucnonp3oBaB

C. HCIIOJIb30BaHHbIN

Experiments showing the changes in substance are very important for industry.
d. IIOKa3hbIBas

b. korma oHM mMoka3wpIBAIOT

C. IIOKa3bIBAIOIIHE

d. moxa3aHHBIE

Since a charged particle (uactuiia) is called an ion, we may consider (cuurarts)
the free electrons as negative ions (1ombI).
a. 3apsHKEHHBIN
b. 3apspxarormii
C. 3apsauB
d. 3apspkas
Having invented the lightning conductor, Franklin continued working at the
problem of atmospheric electricity.
a. wm300peTaronui
M300pETECHHBIN

b
C. TocIye TOro, Kak dpaHKIuH n300pen
d. wm3o0peras
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3ananue 4. BoiOepure npaBu/IbHBIN MEPEBO/] AHIJIMICKOI0 MPEAJI0KEHHS .

1. The work having been finished, the students went home.
a. 3aKoHYUB palOTy, CTYJAEHTHI MOILIN IOMOM.
b. 3akanumBas pabOTy, CTYJACHTHI IOLIH JIOMOM.
c. Korpaa pabota Obli1a 3aK0OHUEHA, CTYIEHTHI MOIUIA JOMO.

2. Having translated the article, the student gave it to the teacher.
a. Korz[a CTYACHT IICPEBCACT CTATBIO, OH OTAACT €€ IMPCIIOJaBaTCIIIO.
b. IlepeBens craTbio, CTYJICHT OTJAJ] €€ MPEnogaBaTeto.
C. HepeBeJ:(eHHon CTAaTbIO CTYACHT OTHAJI IIPCITIOAaBaATCIIO.

3. While flowing along the conductor the current heats it.
d. HpOTeKaIOHII/Iﬁ MO MPOBOAHHUKY TOK HArpeBacT €ro.
b. Tok, KOTOpBII MPOTEKAET MO MPOBOJIHUKY, HATPEBACT €TO.
C. HpOTeKaSI IO MPOBOJHHUKY, TOK HArpeBacT €ro.

4. The pole of the magnet pointing to the North is called the North Pole.
a. llomroc MarauIa, y1<a35113a101111/1ﬁ Ha CCBCP, HA3BIBACTCA CCBCPHBIM ITOJIFOCOM.
b. KOF]Ia IMOJIFOC MATHUTA YKA3bIBACT HA CCBCP, €T'O HA3BIBAKOT CCBCPHBIM
[TOJIFOCOM.
c. llomroc maraura YKa3bIBACT HAa CCBCP, U €TI0 HA3BIBAIOT CCBCPHLIM
[IOJIFOCOM.

5. Having beengiven all the necessary data, the engineer could adjust the instrument.
a. KOFI[a HHXCHCPY HaJId BCC HCO6XOI[I/IMBI€ JaHHBIC, OH CMOTI" OTPCTYJIINPOBATH

puoop.

b. Tlomyuas Bce HECOOXOAUMBIEC TaHHBIC, HHKCHEP MOXKET OTPETyIUPOBAThH
puoop.

c. Korma wmxeHep nan Bce HEOOXOIMMBIC JaHHBIE, NMPHUOOP CMOTIIH
OTPETyJIUPOBATb.

6. When heated to the boiling point, water evaporates and forms steam.
a. Korma Bomy Harpenu 10 TOYKM KUMEHUS, OHA MCTIApWIach U 00pa30oBajcs map.
b. HarpeBas Boay 10 TOUKH KUTIEHUS, €€ BHITAPUBAIOT U MOJIYYAIOT TIap.
C. Korz[a BOAY HArpCBaroT JO TOUYKH KHUIICHHUA, OHaA HCIIAPACTCA H
obpazyercs map.

7. Being used for building purposes the material should have no defects.
a. Korga marepuan ucronap3yeTcs st CTPOUTENBHBIX LEJIEH, OH HE JOJKEH
UMETH 1e(PEKTOB.
b. Hcnoap30BaHHBIHN AJIs CTPOUTEIBHBIX LIEJICH MaTeprall He JOKEH ObLI
UMETh 1€(PEKTOB.
c. Marepuan HCHONB3YIOT JJISI CTPOUTENBHBIX LEJIEH, IMO3TOMY OH HE
JOJKEH UMETh Je(DEeKTOB.
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8. There is water vapour in the air, its amount depending upon various conditions.
a. Ecius BO3YXC UMCCTCA BOI[)IHOI71 rnap, KOJIM4CcCTBO €ro 3aBUCUT OT
Pa3IMYHBIX YCIOBUM.
b. HNmMeromeecst KOJIMYECTBO BOJISHOIO Mapa B BO3JIyX€E 3aBUCUT OT
Pa3IMYHBIX YCIOBUM.
c. B BO3QYXC UMCCTCA BOI[HHOﬁ rnap, mMpu4ceMm KOJINMYCCTBO €0 3aBUCHT
OT Pa3JIMYHBIX YCIOBUHI

3ananue S. BoiOepure npaBWIbHbBIN NEPEBO PYCCKOr0 MPeAI0KEeHHU.

1. I/I3Mep5151 TCMIICPATYPY TOpAINX MCTAJIJIOB, MBI TTIOJIb30BAJINCH ITUPOMCTPOM.
a. Having measured the temperature of hot metals we used the pyrometer.
b. Measuring the temperature of hot metals we used the pyrometer.
¢ The temperature of hot metals being measured, we used the pyrometer.

2. 3aKOHYMB OIBIT, CTYACHTHI YIIUIN U3 Ja00paTOpuu.
a. The experiment having been finished, the students left the laboratory.
b. Having finished the experiment the students left the laboratory.
¢ . Finishing the experiment the students left the laboratory.

3. OmnucaHHBIN OIBIT IMPUBJICK BHUMAHHC BCCX.
a. Having been described the experiment attracted everybody's attention.
b. Being described the experiment attracted everybody's attention.
¢ The experiment described attracted everybody's attention.

4. UYwras nekuuro, mpodeccop WUTIOCTPUPOBAT €€ UHTEPECHBIMU MPUMEPAMHU.
a. Having delivered his lecture the professor illustrated it with interesting
examples.
b. Delivering his lecture the professor illustrated it with interesting examples.
¢ The lecture being delivered, the professor illustrated it with interesting
examples.

3aganue 6. 3anoaHUTe NMpoNyckK MoaxoAsimeii popmoii npuyacTus.

1. The girlis ... her work.
a. finished
b. finishing
c. having finished
d. being finished

2. The girl ... her work is my sister.
a. finished
b. finishing
c. having finished
d. being finished
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3. The nuclear reactor must be one of the most reliable (mamexnsriit) furnaces
... atomic energy.
a. produced
b. being produced
c. having produced
d. producing

4. The text ... by the student is not difficult.
a. translating
b. having translated
¢ translated
d. having been translated
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Tema 10. UnpunuTuB

Tabmuua 10.1

DyHKUMHU HHPUHUTHBA

DyHKUUA B IIpumepsl IlepeBon
NpeI0KeH I
1. [Tomexarmee To learn everything by | BeryurBanue BCETO  HAU3YCTh
heart is impossible HEBO3MOXKHO
Bcee BBIYYUTH Hau3yCTh
HEBO3MOXHO.
(CymectBuTenbHOE, MHOUHUTHUB)
2. Yactp 1). Their aim (idea, | 1). Ux uens (umes, 1enb, npobdiema,
CKa3yeMoro purpose, problem, | GyHKIMS) COCTOUT B TOM, YTOOBI

function) is to get new

noJy4YuTh MH(pOpManuio 00 3>ToM

information  about  this | sBienue. (MuGUHUTHB)
phenomenon 2). Hama rpymma
2). Our group {0 | ycoBepiieHCTBOBaTbL ~ TEXHOJOTHIO.
improve this technique. (UupunutHB)
3. JlonosnHeHMe We agreed to meet later. MBI TOrOBOPWIIUCH BCTPETHUTHCS (0O
BCTpEYE) MO3KE.

(CymectButenbHoe, UHQUHUTHB)

4. Onpenenexue

1). | had no time to visit
the museum vyet.

2). The letters to be
posted are on the table.

3). He was the first to
recognize me.

1). ¥V mens noka He ObUIO BpeMEHHU
IOCETUTh MY3€EH.

(MadpunuTHuB)

2). [lucbma, KOTOpBIE JOKHBI OBITh
(OynyT) OTOpAaBIEHBI, Ha CTOJIE.

(OnpenenurenbHOe  TPUIATOYHOE
CO  CKazyeMbIM,  BBIpaXKaroOIIUM
neiictBue, KoTopoe Oyaer uiu

TOJIKHO COBEPIIATHCS)
3). OH nepBBIM y3HAI MEHS.
(JImunas ¢opma riarona)

5. O0CTOATENBCTBO

To translate the book in

time you must
ask

somebody’s help.

for

YroObI mepeBecTH KHUTY BOBpEMS,
TBI JIOJDKHA OOpaTUThCI K  KOMY-
HUOY/T> 32 TIOMOIIBIO
(MaUHATHB C COIO30M «YTOOBI»,
«JUTSI TOTO YTOOBD»)

Taomuna 10.1

3anoroso-speMeHHble POPpMbI HHPUHUTHBA

Active Passive
Indefinite to translate to be translated
Continuous to be translating
Perfect to have translated to have been translated

Perfect Continuous

to have been translating
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Tabmuma 10.2

NupunutuBHbIe 000poThl. Ci105KHOE NOAJIEKALLECE

IIpumepsl IlepeBon
is known W3BectHO
is likely BepositaHO
IS certain HecomuenHo
is found to have OOHapyX eHO , 4TO OTO
This artist | is reported painted a lot Coo0rraroT XYJIOKHHUK
Is assumed of  beautiful Jlomyckaetcst Harmucasn
is considered | pictures. Cuwnrtaercs MHOKECTBO
IS expected Osxumaercst HPEKPACHBIX
appears Oka3sbIBaeTcst KapTHH.
seems Kaxercs
proved JlokazaHo
ITepeBoaurcs:
1) MOMOJIHHUTEIBHBIM MPHUIATOYHBIM MPEIOKEHUEM C COI03aMHU «UTOY, «U4TOOBI,
«kak». UHQUHUTHUB EpPeBOAUTCS JIMUHOMN TJIaroIbHOM (OPMON;
2) TPOCTBHIM MPEITIOKESHUEM C BBOJHBIM CIIOBOM, COOTBETCTBYIOIIUM CKa3yeMOMY
AHTJIMICKOTO MPEJIOKEHHUS.

Taomuna 10.3

NudpunntuBHbIe 000p0THI. Ci10KHOE T0TIOJHEHNE

[TIpumepsl

ITepeBon

1). They want (would like) the
plan to be fulfilled.

2). " They see (hear) the teacher
leave the room.

3). © They order, allow (let),
cause, force (make) these

1). OHM XOTAT, 4TOOBI IJIaH OBLI BBHITOJTHEH.

2). OHu BuUAAT (CHBIIIAT), YTO NPENoJ/iaBaTeNb
VXOIUT U3 KOMHATBL.

3). OHn npuka3piBatOT (IIO3BOJISIOT, 3aCTABIISIOT),
qT00BI OBUTY IIPUHATHI 3TH MEPBHI.

arrangements to be made.

4) They consider, report, believe
him to be an experienced lecturer.

4) OHM cyuTalT, COOOMIAIOT, MOJArarT, YTO OH
OIBITHBIA ITPENOaBATEIb.

* Tlocye TIaroyioB 4yBCTBEHHOIO
BoctpusTus (See, hear, feel u .
1.), a Takke riarojos let, make,
have wucnosnb3yercs WHPUHUTHUB
0e3 vactuns! “t0”

[TepeBomuTcs TPHUAATOYHBIM TPEITIOKCHUEM C
COIO3aMH  «4YTO», «4TOOBI», «Kak». WHPUHUTUB
TIEPEBOJIUTCS JIMUHOM TIaroibHON (HOpMOH.
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Tect Ne 10
HNudpunutus

3ananue 1. Onpenenure gopmy nuHpuHUTHBA.

Indefinite Infinitive Active
Indefinite Infinitive Passive
Perfect Infinitive Active
Perfect Infinitive Passive

oo

1. The solution to be filtered was poured into the vessel.
2. He is known to have written a very good work.

3. To determine the temperature of a gas is not easy.

4. The scientist should know the device to be constructed.

3ananue 2. Onpeneaure GyHKIU0O HHGUHATHBA.

IMOJIC)KAIICC

00CTOSITENILCTBO e

BXOOUT B COCTAaB CJIOKHOI'O ITOAJICKAILICTO
OIIPCACIICHUC

JOITOJIHCHHC

®o0 o

1. To determine the molecular weight of a gas it is necessary to know its density.
2. To design a good control system the engineer should have a good knowledge of it.
3. He is known to have worked at the mill.

4. To solve this problem is his main task.

3ananue 3. Haiigute 00beKTHBIN HH(PUHUTUBHBIIA 000POT

1. a. The book to be written by this writer will be interesting.
b. This writer is known to have written a new book.
c. We know this writer to have written a new book.
d. To write the book the writer spent much time.

2. a. Heat is known to accelerate (yckopsits) chemical reactions.
b. We know heat to accelerate chemical reactions.
c. The reaction to be accelerated is being carried out.
d. The accelerated reaction is being carried out.
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3ananue 4. Hajligute cy0ObeKTHbIH HHPUHUTUBHBINA 000POT.

1. a. Lomonosov was the first to give the definition of the second law of motion.
b. We know Lomonosov to be a great scientist.
c. Water to be filtered must be pure
d. Hydrogen atoms are believed to have just one proton as its nucleus (sapo).

2. a. We consider him to be a good teacher.
b. He is considered to be a good teacher
c. To be a good teacher he studied much.
d. To be a good teacher is difficult.

3aganue 5. BoiOepuTe npaBuJIbHbIN NepeBoOI.

1. Water is considered to be an element by scientists.
a. YueHble cuuTajan, 4TO BOAA — DJICMCHT.
b. YdeHbie, KOTOpbIC CUUTAIIH. ..
C. YdeHble CUMTAIOT, 4TO BOJA....

2. We know the students to have worked well.
a. MBI 3HaeM CTYZICHTOB, KOTOPbIE pabOTaIM XOPOIIIO.
b. CTyaeHThI, Kak MbI 3HaeM, pabOTAIOT XOPOILIIO.
C. I/I3B€CTHO, UTO CTYIACHTHI pa60TaJII/I X0pomo
d. MsI 3HaeM, 4TO CTyIEHTHI pabOTaIN XOPOIIIO.

3. These data appear to have been investigated.
a. [lo-BuaumMoMy, 5TH JaHHBIE YKE OBLIN MCCIIETOBAHBL.
b. [To-BugumMoMy, 3TH JaHHBIE UCCIETYIOTCS.
C. [lossBruIMCH TaHHBIE, KOTOPBIE HAJIO UCCIIEIOBAT.

4. We want Petrov to be told this news.
a. M1 xoTnM pacckazath [IeTpoBy 3Ty HOBOCTS.
b. MBI xoTuM, uT00BI [IeTpOBY paccka3aiu 3Ty HOBOCTb.
C. MbI xoTuMm, uto65!I [leTpoB pacckazan Ham 3Ty HOBOCTb.
d. ITerpoB xo4eT paccka3aTh HaM.....

5. These data are certain to be investigated.
a. HecomHeHHO, 3TH 1aHHBIC OBLIN UCCIIEOBAHEI.
b. MbI XOTHUM, YTOOBI 3TH JaHHBIC OBLIN UCCIICIOBAHbI
C. DTH JaHHBIE JIOJKHBI OBITh UCCIICIOBAHBI.
d. O1Tu naHHBIC, HECCOMHEHHO, OYAYT UCCJICI0BAHBI.
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6. We want these data to be investigated.
a. MBI XOTHM HCCIIeI0BaTh ATH JTaHHEIE.
b. Otu gaHHbBIe, HECOMHEHHO, OBUIHM UCCIICI0BAHEI.
C. MBI XOTHM, YTOOBI 3TH JAaHHBIC OBUIN UCCJICIOBAHEL.
d. DTu naHHBIC, HECOMHEHHO, OYIYT UCCJICTOBAHBI.

7. We know two atoms of hydrogen to unite with one atom of oxygen.
d. I/I3BeCTHO, 4TO JABa aTOMa BOJOpoda COCANHAIOTCSA C OJJHHMM aTOMOM KHUCJIOpOoJa.
b. MeI 3HACM, 4TO JIBa aTOMa BOJOpoda COCAUHAIOTCA C OJHUM aTOMOM KHUCJIOpOa.
C. .I[Ba aTOMa BOJ0pO/Ja, KaK M3BECTHO, COCAUHATOTCA C OAHUM aTOMOM KHCJIOpO/Ja.

3ananue 6. YkaxuTe NpaBU/IbLHbIN NepeBo] HHPUHUTHBA.

1. To determine the volume of a gas is not easy.
a. UTtoOnI onpeieuTh 00beM..
b. Onpenenuts 00BEM. ..
C. Onpenensisi 00bEM....

2. To solve this problem we have to consider (paccmarpuBats) many factors.
a. pelnTh
b. 4TOOBI permmuTh
C. pemas

3. To find out the state (cocrostaue) of a mass of gas is not difficult.
a. y3HaTh
b. 4T0OBI y3HATH
C. y3HaB

4. They took all the devices (mpubopsr) to be used in the experiment.
d. UCITIOJIb3OBAHHbIC
b. 4T00BI HCITONB30BATH
C. KOTOPBIC HYKHO HMCIIOJIB30BATH

5. To get better results he made the experiment again.
d. IOJIy4YUTh
b. 9TOOBI MOTYYIHTH
C. mojay4as

6. The methods to be employed in our work are very efficient.
d. IOJI’)KHBI UCITIOJIb30BaThCA
b. KoTOpBIE HY)KHO UCTIOIB30BATh
C. HCIIOJIb3YCMBIC
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7. The engineer should know the reactor to be constructed.
a. IOCTPOEHHBIN
b. 9TO0OBI MOCTPOUTH
C. KOTOpbIN OyeT MOCTpOeH

3aganme 7. YKa:xkuTe NpaBHIIbHBIH NepeBO NMPeIJI0KeHUI.

1. | wanted the engineer to be explained the new data.
a. 51 xoren, yToOBI MH)KEHEP OOBACHUI HOBBIE JIAHHBIE,
b. 51 xoTen, 4ToObI HHXKEHEPY OOBACHHUIIN. ...
C. 51 xoTen OOBSICHUTH UHKEHEDY....

2. They wanted him to show the operation of the mechanism.
a. OHHM X0Tenu IMoKa3aTh cMYy pa60Ty MCXaHU3Ma.
b. Onu xoTenu, 4TOOBI eMy MoKa3aiu padoTy....
C. OHu xoTenu, 4YToObl OH TOKa3an padoTy....

3. I’d like you to be explained the work of this machine.
a. 5l xoren Obl OOBSACHUTH BaM pabOTy 3TON MaIIUHBI.
b. 51 xoTen ObI, YTOOBI BaM OOBSICHHIN PadoTYy....
C. 5l xoten Obl, 4YTOOBI BBl OOBSICHWIN PAOOTY.....

3ananue 8. 3anoiHUTE MPONYCKHU Moaxoasimeii ¢popmoii nHPUHUTHBA.

1. She is supposed .... at the report now.
a. to work
b. to have worked
c. to be working
d. to have been worked

2. Volta is known ...... the first electric battery.
a. to invent
b. to be inventing
c. to have been invented
d. to have invented

3. Silver (cepebpo) is believed ..... many hundreds of years ago.
a. to be used
b. to have been used
c. to use
d. to have used
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3aganue 9. Haiiinre aHIINACKUAI DKBUBAJICHT.

1. HaxonsT, 4TO 3TOT METO/I...
a. This method seems to....
b. This method is found to.....
c. This method is certain to....
d. This method is likely to.....

2. HecoMHEHHO, YTO 3TOT METO/.....
a. This method proved to....
b. This method is found to....
c. This method seems to....
d. This method is certain to.....

3. Ilo-BuariMoMy, 3TOT METO....
a. This method seems to....
b. This method is known to.....
c. This method proved to....
d. This method was supposed to....
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Tema 11. I'epynauia

Tabmuma 11
DYyHKUMH TePYHIUS
DyHKUUA B IIpumepsl IlepeBon
npeIoKeHHI
1. Ioanexaree Walking fast is a good | Beictpas xomp0a (XOmUTB) —
exercise. Xoporast TPEHHUPOBKA.
(CymecTBUTENBHOE,
WHOUHUTHUB)
2. YacTb cKa3zyeMoro His hobby is painting | Ero X000u - UCaTh
landscapes. HaMKCAHUE) MeH3aKei.
(CymiecTBUTENBHOE,
WH()UHUTHUB)
3. [Ipsimoe nomonuenue | He enjoys writing letters. Emy HPaBUTCS UCcaTh
HAIACAHKE) ITHCEM.
(CymecTBUTENBHOE,
WHOUHUTHUB)
4. Onpeaenenue Everybody recognizes the | Bce  mnpusHaloT  BaXHOCTb
(oObIuHoO ¢ mpemtorom | importance  of  learning | u3y4YeHuss HHOCTPAHHBIX SI3BIKOB.
“of”, “for” mocie foreign languages. (CymectBuTeabHOE)
CYIIECTBUTEILHOIO)
5. O6CTOATENHCTBO In testing the report we met | Korma Mbl  mpoBepsiv OTYET
(oObruno ¢ mpemtoramu | With a lot of difficulties.. (mpoBepsisi_oT4eT/IpU TPOBEPKE
IN — mpH, B TO Bpemst 0TYeTa), MbI CTOJKHYJIHUCh CO
Kak; on (upon) — o, mHorumH.  (CylecTBHTEIBHOE,
noce; after — nocue; JieeTprIacTHe, NPUIATOYHOE
before — nepex; by — 00CTOSATETHCTBEHHOE )

TBOPHT. MajaeskK; instead
of — BMecTO TOTO
yT0o0b!; fOor —mis u T.

n.)

Tect Ne 11
I'epynami

3ananue 1. Onpenenure Gopmy repyHans.

Indefinite Active
Indefinite Active
Perfect Active
Perfect Passive

Qoo

1. In spite of not having any university education, Faraday made his great

discoveries.

2. The author reports having applied (apply — npumensts) a new method.
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3.

4.

They objected to (Bospaxarp) the data being published before all the
experiments were completed.
| know of this article having been written 2 years ago.

3ananue 2. Onpenenure GyHKIUIO FePYHAUA B IPeIJ10KCHUH.

®o0 o

abrwpbE

IoJijIeKaliee
BXOJIUT B COCTaB CKa3yeMOro
JIOIIOJTHEHHUE
00CTOSTENLCTBO
oTIpe/IeIICHHUE

They are interested in generating heat and cold from electricity.

This method of examining a machine tool is connected with a new technology.
The task of our scientists is finding new sources of energy.

Heating the gas increases the speed of the molecules.

We cannot solve that problem without analysing the results of the experiment.

3ananme 3. Onpenenure 4acTh peyd NMOAYEPKHYTBIX CJIOB. Psigom yka:kure
(pyHKIMH, KOTOPbIE OHU BBINOJIHAKOT B NPeJ10KeHUM.

=

© 0N U

a. TepyHIHUH
b. npuyactue

This procedure is finding increasing use.

Introducing an ideal substance is a favourite device (3a. meron) in theory,
but it is sometimes dangerous.

Many technical and scientific problems having been solved, the first space
flight could be realized.

Using the terms just defined, the above examples of functional relations can
be restated (restate — nepedopmynuposats) as follows.

When carrying out various experiments Gilbert solved many problems.

By changing the value (mapameTtp) of resistance we can increase the current.
The engineer examining the new machine tool works at this plant

The privilege of the Greeks was making mathematics a science.

Mankind (aenoBeuecTBo) is interested in atomic energy being used only for
peaceful purposes.

3ananue 4. BoiOepuTe npaBWibHY0 (OpPMY repyHAuUs.

1.

Do you mind my .... in your talk?

a. being interfered (interfere — BMemmBaTHC)
b. interfering

c. having been interfered
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2. He was proud of ... the prize last week.
a. having been awarded (award — npucyxnars)
b. being awarded
c. awarding

3. He liked to do things without ... anyone or ... .
1)
a. being disturbed (disturb — 6ecioxonTs)
b. having disturbed
c. disturbing
2)
a. having been disturbed
b. being disturbed
c¢. having disturbed

3ananme 5. BctaBbTe HE00XOAUMBI MPEAJIOT.

1. He did not object... being examined.
a.from b. to c. of

2. Everything depends ... being on the spot.
a.of b. at C. on

3. He had never had much difficulty ... getting jobs.
a.in b. with C. on

4. |shall look forward ... seeing your book.
a.to b. at c. for

5. There are different ways ... solving this problem.
a.for b. of C.in

6. If you walk into the road ... looking you risk being knocked down by a car.
a.without b. after C. despite

7. He went to his office .... being ill.
a.without b. in spite of C. instead of

8. The group of scientists succeeded ... testing the validity of this hypothesis.
a.at b.in c. With

9. We are interested ... finishing this work in time.
a.in b. to c. of
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10.

.... hearing the conditions he decided not to enter for the competition.
a.before b. besides c. after

3aganme 6. Omnpegenure, Kakue MNPeAJI0KEHHS COIEPKAT CJIOKHbBIN
repyHAMAJIbHBIA 000POT.

1.

2.

The problem of storing (store —makamauBath) energy has not yet been
solved.

The molecules of this substance because of their being reactive combine
with one another.

We know of a luminescent lamp giving four times as much light as an
ordinary electric lamp.

In solving problems it is necessary to distinguish (pasnuuats) between facts
and hypothesis.

They are glad at our professor's having published a new text-book.

The engineer insists on those devices being a new step in the development of
technique.

Carrying out this test successfully was helped by the careful investigations
of outstanding scientists.

Sechenov’s having published his "Notes on Man’s Motions at Work" in
1901 opened up a new branch of science.

The possibility of chemical energy being transformed into electric energy is
evident (oueBuIHBII).
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Tema 12. Tunbl yCJIOBHBIX MPEAI0KEHUH
CocaararejibHOe HAKJIOHEHHE

Tabnuma 12
Tunbl yeJOBHBIX NPeII0KeHUH
Tun ycaoBHOro IIpumep IlepeBon
NPUIATOYHOI O,
ynorpedjsieMble BpeMeHa
0. HymeBoe ycnoue s | If you take the ice out of | Ecnu  gocrare Jnex  u3

onucaHus (GpaxToB
[Tocne coroza (if) — Present

the refrigerator, it melts

XOJIOAUWJIbHUKA, OH TAacCT.

Simple, B TJIABHOM

npenjgoxenun  —  Present

Simple

1. PeampHoe ycmoBue B | If you give him the book, | Eciu BeI gamute eMy KHHTY,
OyayIIeM. he will read it. OH €€ IPOYUTAET.

ITocne coroza (if) — Present

Simple, B TJIABHOM

npennoxxenun  —  Future

Simple

2. He Bmomne peansHoe | If you gave him the book, | Ecaiu [Obl [Bel ganu  emy
yciaoBue B Hacrosimiem U | he would read it. KHHTY, OH IIPOYUTAL [OBI ee.
Oyay1iem.

ITocne corosa (if) — Past

Simple, B TJIaBHOM

peIOKEHUH— should,

would, could, might +

Infinitive

3. Hepeanbnoe ycnoue B | If you had given him the | Ecau |66l Bl ganu emy Buepa
IPOLLIOM. book yesterday, he would KHUTY, OH OIPOYMUTAJI mee,
ITocne coroza (if) — Past | have read it.

Perfect,s [JIAaBHOM

peIOKEHUH— should,

would, could, might + have +

Participle Il cmbIcaoBOrO

rjaroja
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Tect 12. Tunbl yCJIOBHBIX NPEAI0KECHU A
CociaararejibHOe HAKJIOHEHHE

3aganue 1. YKakuTe THI YCJOBHOIO MPEAJIOKEHHUS, KOTOPbIA HYKHO
HUCIOJIB30BATh NPHU MNEpeBOAe YKA3aHHBIX MNPeIJIOKEHUNl HAa aHIVIMHUCKUU.

a. 1 tuno
b. 2 Tun
C. 3 tun

1. Eciu BBI He COO6H_II/ITC MHC H€06XOZ[I/IMYI-O I/IH(i)OpMaL[I/II-O, s HC CMOT'Y TIOMOYb BaM.

2.

3

4.

5

Ecnu 651 s ObUT IpeMbEP-MUHUCTPOM, 51 ObI TOBBICHIT HAJIOTH.
Ecnu noroga ymyqmurcsi, Mbl TIOMIEM Ha TIPOTYJIIKY.

Ecnu 651 s He 3a0bLT TACTIOPT, 51 OBI BUEpA MOTYUMI Balll TIEPEBOI.
Ecnu Th1 Oyzeb BEIXOUTh, Ky MHE, TTOKATyHCTa, KOHBEPT.

3amanue 2. BoiOepure NoAX0AfAIYI0 IV1aroJbHyI0 popmy.

1.

If1.... aspare ticket, | would take you to the concert tomorrow.
a. have

b. had

c. had had

d. will have

If I .... trying harder, 1 would have succeeded when | was younger.
a. was trying

b. have been

c. had tried

d. amtrying

If I were you, I ... the facts before | wrote that letter. | wish you hadn't sent it.
a. would have checked

b. would check

c. could check

d. checked

Ifl... more time, | would take up tennis.
a. had had

b. would have

c. will have

d. had
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5. If I had been ina hurry, I .... for dinner yesterday.
a. would stay
b. wouldn't stay
c. wouldn't have stayed
d. will not stay

o

If a fire starts, the alarm .... off.
a. will go

b. would go

c. will have gone

d. would have gone

~

If you .... the ticket in advance, we wouldn't be jittery now.
a. booked

b. had booked

c. would book

d. have booked

oo

. Your English .... unless you study more.
a. would improve
b. will improve
c. won't have improved
d. won't improve

3ananue 3. BoiOepuTe nmoaxojsiiiee cJI0BO, YTOObI 3aNOJTHUTH MPOMYCK.

a. unless
b. if
c. but for

1. ....I were you, | would send him a telegram.

2. You will fail your exam ... you work harder.

3. ... your help I would have never been able to finish the work by Friday.
4. She spends Sundays in the garden ... the weather is awful.

5. .... the snow we would have been on time.

6. | would do it gladly ... I could only find the time.

3ananue 4. YKaxuTe nepeBojl CJ10B, BblJeJeHHbIX KYPCHBOM.

Bb1 661 onmmu Kyaa-HuOyYas BEYEPOM, €CITH OBl 51 npueiacu Bac?
Ecnu s ysuoicy ee B Onvokaiiiiiee Bpems, s pacCKaxy e 00 3ToMm.
Ecnu ObI s 5Kum 32 TOPOJIOM, 5T 8bIpalyt6al ObI OBOIIIH.

Ecnu Obl y MeHs Toria ObUTH A€HBIH, 51 Kynu Obl 3Ty MalIUHY.
Ecnu 51 sxeHIOCH, MHE nOHA000saMCs IEHBIU.

S nomoe 6wv1 TebE ceiiuac, ecau Obl y MEHS He ObLIO CTOJBKO Je.

ook wnE
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